

Bardyo Satadat Ounnansola
Mechanical Engineering

19/ENG06/012

MAI 104

Serial no: 114

1)

$$y = \frac{(2x^2 + 3)}{\ln 2x}$$

$$\text{let } u = 2x^2 + 3 \quad v = \ln 2x$$

$$\frac{du}{dx} = 4x \quad \frac{dv}{dx} = \frac{1}{x}$$

$$\frac{dy}{dx} = \frac{V \left(\frac{du}{dx} \right) - U \left(\frac{dv}{dx} \right)}{V^2}$$

$$\frac{dy}{dx} = \frac{4x(\ln 2x) - \cancel{1} \cdot \frac{1}{x}(2x^2 + 3)}{(\ln 2x)^2}$$

$$\frac{dy}{dx} \Big|_{x=2.5} = \frac{4(2.5) [\ln 2(2.5)] - \frac{1}{2.5} [2(2.5)^2 + 3]}{[\ln 2(2.5)]^2}$$

$$\frac{dy}{dx} \Big|_{x=2.5} = \frac{16.094 - 6.2}{2.5903}$$

$$= 3.8196$$

→ 3.82 (3sf)

2

$$y = \frac{2x}{x^2 - 5}$$

$$u = 2x$$

$$v = x^2 - 5$$

$$\frac{du}{dx} = 2$$

$$\frac{dv}{dx} = 2x$$

$$\frac{dy}{dx} = \frac{V \left(\frac{du}{dx} \right) - U \left(\frac{dv}{dx} \right)}{V^2}$$

$$\begin{aligned}\frac{dy}{dx} &= \frac{2(x^2-5) - (2x)(2x)}{(x^2-5)^2} \\ &= \frac{2x^2 - 10 - 4x^2}{(x^2-5)^2} \\ &= \frac{2x^2 - 4x^2 - 10}{(x^2-5)^2} \\ &= \frac{-2x^2 - 10}{(x^2-5)^2}\end{aligned}$$

$$\begin{aligned}\frac{dy}{dx} \bigg|_{(2,-4)} &= M = \frac{-2(2)^2 - 10}{[2^2 - 5]^2} \\ &= \frac{-2(4) - 10}{[4-5]^2} \\ &= \frac{-8 - 10}{-1^2} \\ &= \frac{-18}{1} = -18\end{aligned}$$

∴ Gradient = -18

3

$$Z = 2x^3 \ln y$$

$$u = 2x^3$$

$$v = \ln y$$

$$\frac{du}{dx} = 6x^2$$

$$\frac{dv}{dy} = \frac{1}{y}$$

$$\frac{dz}{dy} = 2x^3 \cdot \frac{1}{y} + \ln y \cdot 6x^2 \frac{dx}{dy}$$

$$\frac{dz}{dy} = \frac{2x^3}{y} + 6x^2 \ln y \frac{dx}{dy}$$

$$4 \int_0^2 x(2x^2+1)^{1/2} dx$$

$$\text{let } u = 2x^2 + 1$$

$$\frac{du}{dx} = 4x$$

$$du = 4x dx$$

$$dx = \frac{du}{4x}$$

$$= \int_0^2 x u^{1/2} \cdot \frac{du}{4x}$$

$$= \frac{1}{4} \int_0^2 x u^{1/2} \cdot du$$

$$= \frac{1}{4} \left[\frac{x^2 \cdot u^{3/2}}{2 \cdot \frac{3}{2}} \right] \Big|_0^2$$

$$= \frac{1}{4} \left[\frac{x^2 \cdot u^{3/2}}{3} \right] \Big|_0^2$$

$$= \frac{1}{4} \left[\frac{x^2 \cdot u^{3/2}}{3} \right] \Big|_0^2$$

$$= \frac{1}{4} \times \frac{1}{3} \left[x^2 \cdot u^{3/2} \right] \Big|_0^2$$

$$= \frac{1}{12} \left[x^2 \cdot (2x^2+1)^{3/2} \right] \Big|_0^2$$

$$= \frac{1}{12} \left[\left[2^2 \cdot [2(2^2)+1]^{3/2} \right] - \left[0^2 \cdot [2(0)^2+1]^{3/2} \right] \right]$$

$$= \frac{1}{12} \left[4 \cdot [4+2(4)]^{3/2} - [0] \right]$$

$$= \frac{1}{12} \left[4 \cdot [8+1]^{3/2} \right]$$

$$= \frac{1}{12} \left[4 \cdot 9^{3/2} \right]$$

$$= \frac{1}{12} \left[4 \cdot 27 \right] = \frac{108}{12} = 9$$